'Exercise VIII|

Problems:
. —t T ‘ . = m
1. Find the scalar product (@', b) i | @'l =2, || o] =1, a = &
5
2. Find the scalar product (@, b ) i || 7| = 3, B =2a= g

3. Find the angle Z(@, b) for @ = (1,2), b = (4,2).
4. Find the angle Z(@, b ) for & = (1,2), b = (~2,1).

5. Find the angle (@, b) for 7 = (2,~1), b = (~4,2).

Answers:
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Tn the next exercises, we set @ = (4,2), b = (5,1) and & = (4, —2).

Problems:

—

1. Compute b (@, <) — "é”’(“a’,""é’

).
2. Compute ||a])? ~ (%, 7).

<
3. Compute [b}? + (b, +37).
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